

## ABSOLUTE TAUBERIAN CONSTANTS FOR CESÀRO MEANS

BY  
SORAYA SHERIF

**Abstract.** This paper is concerned with introducing two inequalities of the form  $\sum_{n=0}^{\infty} |\tau_n - a_n| \leq KA$  and  $\sum_{n=0}^{\infty} |\tau_n - a_n| \leq K'B$ , where  $\tau_n = C_n^{(k)} - C_{n-1}^{(k)}$ ,  $C_n^{(k)}$  denote the Cesàro transform of order  $k$ ,  $K$  and  $K'$  are absolute Tauberian constants,  $A = \sum_{n=0}^{\infty} |\Delta(na_n)| < \infty$ ,  $B = \sum_{n=0}^{\infty} |\Delta((1/n) \sum_{v=1}^n va_v)| < \infty$  and  $\Delta u_k = u_k - u_{k+1}$ . The constants  $K, K'$  will be determined.

**1. Introduction.** Let  $\{s_n\}$  ( $n \geq 0$ ) ( $s_n = a_0 + a_1 + \cdots + a_n$ ) be a sequence of real or complex numbers. Denote by  $t_n$  a linear transform  $T$

$$(1.1) \quad t_n = \sum_k c_{n,k} s_k \quad (1)$$

of  $s_k$  supposed convergent for all sufficiently large values of  $n$ . In various special cases, it has been found that theorems of the following type hold. Suppose that  $p, n$  are related in an appropriate way (usually the assumption is that  $p/n \rightarrow \alpha$  as  $n \rightarrow \infty$ , where  $\alpha > 0$  is a constant). Suppose that

$$(1.2) \quad \limsup_{n \rightarrow \infty} |na_n| < \infty.$$

Then there is a constant  $A$  such that

$$(1.3) \quad \limsup_{n \rightarrow \infty} |t_n - s_p| \leq A \limsup_{n \rightarrow \infty} |na_n|.$$

There are also analogous results in which (1.1) is replaced by a sequence-to-function transformation. Usually the best possible value of the constant  $A$  has been determined.

Theorems of this type were first considered by Hadwiger [8] and have since been investigated by various authors; see for example Agnew ([1], [2]) and Jakimovski [10].

Some similar theorems have been obtained with (1.2) replaced by the weaker condition

$$(1.4) \quad \limsup_{n \rightarrow \infty} |\gamma_n| < \infty,$$

---

Received by the editors June 14, 1971.

AMS 1970 subject classifications. Primary 40D10, 40G05.

(1) Unless otherwise indicated, the symbol  $\sum$  stands for  $\sum_0^\infty$ .

Copyright © 1972, American Mathematical Society

where we write

$$(1.5) \quad \gamma_n = \frac{1}{n+1} \sum_{v=1}^n \nu a_v.$$

See, for example, Delange [5], Rajagopal [14], Meir [13] and Sherif ([15], [16]). Also, other theorems have been obtained with (1.2) replaced by a condition of Schmidt's type

$$(1.6) \quad \limsup_{p \rightarrow \infty} \max_{|p-q| \leq \lambda p^{1/2}} |s_q - s_p| \leq \lambda L \quad (\lambda > 0),$$

where  $\limsup_{n \rightarrow \infty} |n^{1/2} a_n| = L < \infty$ . See for example Anjaneyulu [3].

Denoting by  $C_n^{(k)}$  the Cesàro transform of order  $k$  so that

$$C_n^{(k)} = \binom{n+k}{n}^{-1} \sum_{v=0}^n \binom{n-v+k}{n-v} a_v \quad (k \geq 0),$$

we introduce in this paper estimates of a new form for the *absolute* Cesàro summability defined by Fekete [6]. The corresponding Tauberian conditions to (1.2) and to (1.4) will be

$$(1.7) \quad \sum |\Delta(na_n)| < \infty,$$

and

$$(1.8) \quad \sum \left| \Delta \left( \frac{1}{n} \sum_{v=1}^{n-1} \nu a_v \right) \right| < \infty \quad (2),$$

respectively, where we define  $\Delta u_k$  by

$$(1.9) \quad \Delta u_k = u_k - u_{k+1}.$$

The estimates will be of the forms

$$(1.10) \quad \sum |\tau_n - a_n| \leq K \sum |\Delta(na_n)|,$$

$$(1.11) \quad \sum |\tau_n - a_n| \leq K' \sum_n \left| \Delta \left( \frac{1}{n} \sum_{v=1}^{n-1} \nu a_v \right) \right|,$$

respectively, where

$$(1.12) \quad \tau_n = C_n^{(k)} - C_{n-1}^{(k)};$$

$K$  and  $K'$  are absolute Tauberian constants.

It has been proved by Hyslop [9] that, if  $\sum a_n$  is absolutely Abel summable and if (1.8) holds, then  $\sum a_n$  is absolutely convergent. Since *absolute* summability  $|C, k|$  implies *absolute* Abel summability<sup>(2)</sup>, this theorem includes the result:

<sup>(2)</sup> (1.8) can be stated in the form that the sequence  $\{na_n\}$  is absolutely summable  $|C, 1|$ .

<sup>(3)</sup> See Fekete [7].

(A) *absolute* summability  $|C, k|$  together with (1.8) implies *absolute* convergence. *A fortiori*, it includes the result:

(B) *absolute* summability  $|C, k|$  together with (1.7) implies *absolute* convergence.

It will be noted that, just as the Tauberian constant theorems already cited include the familiar “*o*” Tauberian theorems, so Theorems 3.1 and 2.1 of the present paper include (A) and (B) respectively.

I have much pleasure in expressing my gratitude to Professor B. Kuttner for his valuable suggestions during the presentation of this paper.

2. THEOREM 2.1. *Suppose that (1.7) holds. Then, whether*

$$(2.1) \quad \sum |\tau_n| < \infty,$$

*holds or not, (1.10) holds, where for  $k \geq 0$ ,*

$$(2.2) \quad K = \Gamma'(k+1)/\Gamma(k+1) + \gamma,$$

*( $\gamma$  is Euler's constant).*

*This result is the best possible in the sense that (1.10) becomes false if  $K$  is replaced by any smaller constant.*

For the proof of Theorem 2.1, we require the following lemmas.

LEMMA 2.1. *Let*

$$(2.3) \quad A_n = \sum_v \alpha_{n,v} b_v.$$

*Suppose that*

$$(2.4) \quad \sum_n |\alpha_{n,v}| \text{ is bounded}^{(4)}.$$

*Let*

$$(2.5) \quad K = \sup_v \sum_n |\alpha_{n,v}|.$$

*Then*

$$(2.6) \quad \sum_n |A_n| \leq K \sum_v |b_v|$$

*and this constant is the best possible in the sense that (2.6) becomes false if  $K$  is replaced by any smaller constant.*

**Proof.**  $\sum |A_n| \leq \sum_n \sum_v |\alpha_{n,v} b_v| = \sum_v |b_v| \sum_n |\alpha_{n,v}| \leq K \sum_v |b_v|$ . On the other hand, given  $\epsilon > 0$ , there is a  $\nu_0$  say such that  $\sum_n |\alpha_{n,\nu_0}| > K - \epsilon$ . The conclusion follows on taking  $b_{\nu_0} = 1$ ;  $b_\nu = 0$  ( $\nu \neq \nu_0$ ).

---

<sup>(4)</sup> It has been shown by Mears [12], K. Knopp and G. G. Lorentz [11] that for the transformation (2.3) to transform every absolutely convergent series into an absolutely convergent series, it is necessary and sufficient that (2.4) holds.

LEMMA 2.2. *Let*

$$(2.7) \quad \beta > \alpha + 1.$$

*Then*

$$(2.8) \quad \sum_{n=\nu}^{\infty} \binom{n-\nu+\alpha}{n-\nu} / \binom{n+\beta}{n} = \beta \cdot \Gamma(\nu+1) \Gamma(\beta-1-\alpha) / \Gamma(\nu+\beta-\alpha).$$

**Proof.** The left-hand side of (2.8) is equal to

$$(2.9) \quad \left[ \binom{\nu+\beta}{\nu} \right]^{-1} \left\{ 1 + \frac{(1+\alpha)(\nu+1)}{(\nu+\beta+1)} + \frac{(1+\alpha)(2+\alpha)(\nu+1)(\nu+2)}{2!(\nu+\beta+1)(\nu+\beta+2)} + \dots \right\} \\ = \left[ \binom{\nu+\beta}{\nu} \right]^{-1} \cdot F\{(1+\alpha); (\nu+1); (\nu+\beta+1); 1\},$$

with the notation of Chapter I of Bailey's tract [4]. By Gauss' theorem of §1.3 of Bailey [4], (2.9) is equal to

$$\left[ \binom{\nu+\beta}{\nu} \right]^{-1} \cdot \frac{\Gamma(\nu+\beta+1) \Gamma(\beta-1-\alpha)}{\Gamma(\nu+\beta-\alpha) \Gamma(\beta)}$$

from which the right-hand side of (2.8) is established.

We are now in position to prove Theorem 2.1. It is clear that  $\tau_0 = a_0$ . But for  $n \geq 1$ ,

$$\tau_n = \left[ \binom{n+k}{n} \right]^{-1} \sum_{\nu=1}^n \binom{n-\nu+k}{n-\nu} a_\nu - \left[ \binom{n-1+k}{n-1} \right]^{-1} \sum_{\nu=1}^{n-1} \binom{n-1-\nu+k}{n-1-\nu} a_\nu$$

$$(2.10) \quad = \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\mu=1}^n \mu \binom{n-\mu+k-1}{n-\mu} a_\mu \\ = - \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\mu=1}^n \binom{n-\mu+k-1}{n-\mu} \sum_{\nu=0}^{\mu-1} \Delta(\nu a_\nu) \\ = - \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\nu=0}^{n-1} \Delta(\nu a_\nu) \sum_{\mu=\nu+1}^n \binom{n-\mu+k-1}{n-\mu}$$

$$(2.11) \quad = - \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\nu=0}^{n-1} \Delta(\nu a_\nu) \binom{n-\nu-1+k}{n-\nu-1}.$$

Also

$$(2.12) \quad a_n = \frac{1}{n} n a_n = - \frac{1}{n} \sum_{\nu=0}^{n-1} \Delta(\nu a_\nu).$$

Thus, it follows from (2.11) and (2.12) that

$$(2.13) \quad \tau_n - a_n = \sum_{\nu=0}^{n-1} \Delta(\nu a_\nu) \left[ \frac{1}{n} \left\{ 1 - \binom{n-\nu-1+k}{n-\nu-1} / \binom{n+k}{n} \right\} \right].$$

Now, (2.13) is a transformation of the type considered in Lemma 2.1 and, for  $n \geq 1$ ,

$$(2.14) \quad \begin{aligned} \alpha_{n,\nu} &= 0 && \text{for } \nu > n, \\ &= (1/n) \left[ -\binom{n-\nu-1-k}{n-\nu-1} / \binom{n+k}{n} \right] && \text{for } \nu \leq n-1. \end{aligned}$$

Thus, the conditions of Lemma 2.1 are satisfied with

$$(2.15) \quad K = \sup_{\nu} S_{\nu}$$

where

$$(2.16) \quad S_{\nu} = \sum_{n=\nu+1}^{\infty} \left| \frac{1}{n} \left\{ 1 - \binom{n-\nu-1+k}{n-\nu-1} / \binom{n+k}{n} \right\} \right|,$$

provided that  $S_{\nu}$  is bounded; next, we note that, since  $k > 0$ ,  $0 < \binom{n-\nu-1+k}{n-\nu-1} < \binom{n+k}{n}$ , so that we may omit the modulus sign in (2.16). We now have

$$(2.17) \quad \begin{aligned} S_{\nu} - S_{\nu-1} &= \sum_{k=\nu}^{\infty} \left[ \binom{n-\nu+k}{n-\nu} - \binom{n-\nu-1+k}{n-\nu-1} \right] / n \binom{n+k}{n} - \frac{1}{\nu} \\ &= \frac{1}{k+1} \sum_{n=\nu}^{\infty} \binom{n-\nu+k-1}{n-\nu} - \frac{1}{\nu}. \end{aligned}$$

Replacing  $n$  by  $n+1$ , we thus get

$$(2.18) \quad S_{\nu} - S_{\nu-1} = \frac{1}{k+1} \sum_{n=\nu-1}^{\infty} \binom{n-\nu+k}{n+1-\nu} / \binom{n+k+1}{n} - \frac{1}{\nu}.$$

Applying Lemma 2.2, we find that

$$(2.19) \quad S_{\nu} - S_{\nu-1} = \Gamma(\nu) / \Gamma(\nu+1) - 1/\nu = 0.$$

Thus,

$$(2.20) \quad K = S_0 = \sum_{n=1}^{\infty} \frac{1}{n} \left\{ 1 - \binom{n-1+k}{n-1} / \binom{n+k}{n} \right\} = \sum_{n=1}^{\infty} \frac{1}{n} \left( 1 - \frac{n}{n+k} \right).$$

The conclusion thus follows from (2.20) and §12.16 of Whittaker and Watson [17].

**3. THEOREM 3.1.** *Suppose that (1.8) holds. Then whether (2.1) holds or not, (1.11) holds, where*

$$(3.1) \quad \begin{aligned} K' &= K && \text{for } k \geq 1, \\ &= -K+2 && \text{for } 0 < k < 1. \end{aligned}$$

**Proof.** Write

$$(3.2) \quad \phi_n = -\Delta \left( \frac{1}{n} \sum_{\nu=1}^{n-1} \nu a_{\nu} \right).$$

Let

$$(3.3) \quad u_n = \frac{1}{n+1} \sum_{\nu=1}^n \nu a_{\nu}; \quad \phi_n = u_n - u_{n-1}.$$

Then,

$$(3.4) \quad na_n = (n+1)u_n - nu_{n-1} = u_n + n\phi_n = \sum_{\mu=1}^n \phi_\mu + n\phi_n,$$

i.e.

$$(3.5) \quad a_n = \frac{1}{n} \sum_{\mu=1}^n \phi_\mu + \phi_n.$$

Using (3.5), it follows from (2.10) that

$$(3.6) \quad \tau_n = \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\nu=1}^n \binom{n-\nu+k-1}{n-\nu} \left\{ \sum_{\mu=1}^{\nu} \phi_\mu + \nu\phi_\nu \right\} = A + B \quad (\text{say}).$$

But

$$A = \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\mu=1}^n \phi_\mu \sum_{\nu=\mu}^n \binom{n-\nu+k-1}{n-\nu} = \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\mu=1}^n \phi_\mu \binom{n-\mu+k}{n-\mu}.$$

Thus,

$$(3.7) \quad \tau_n = \left[ n \binom{n+k}{n} \right]^{-1} \sum_{\nu=1}^n \left\{ \binom{n-\nu+k}{n-\nu} + \binom{n-\nu+k-1}{n-\nu} \nu \right\} \phi_\nu.$$

It follows from (3.5) and (3.7) that

$$(3.8) \quad \begin{aligned} a_n - \tau_n &= \frac{1}{n} \sum_{\nu=1}^n \left[ 1 - \left\{ \binom{n-\nu+k}{n-\nu} + \binom{n-\nu+k-1}{n-\nu} \nu \right\} / \binom{n+k}{n} \right] \phi_\nu + \phi_n \\ &= \sum_{\nu=1}^n \alpha_{n,\nu} \phi_\nu \quad (\text{say}), \end{aligned}$$

where

$$\begin{aligned} \alpha_{n,\nu} &= 0 && \text{for } \nu > n, \\ &= (1/n) [1 - \{ \binom{n-\nu+k}{n-\nu} + \nu \binom{n-\nu+k-1}{n-\nu} \} / \binom{n+k}{n}] && \text{for } \nu < n, \\ &= (1/n) [1 - (n+1) / \binom{n+k}{n}] + 1 && \text{for } \nu = n. \end{aligned}$$

Thus, the conditions of Lemma 2.1 are satisfied with

$$(3.9) \quad K' = \sup_{\nu} \psi_{\nu},$$

where

$$(3.10) \quad \psi_{\nu} = \sum_{n=\nu}^{\infty} |\alpha_{n,\nu}|.$$

Write

$$b_{n,\nu} = \left( 1 + \frac{\nu k}{n-\nu+k} \right) \binom{n-\nu+k}{n-\nu} / \binom{n+k}{n} \quad (0 \leq \nu \leq n),$$

so that

$$\begin{aligned} \alpha_{n,\nu} &= (1/n)(1 - b_{n,\nu}) && \text{for } 0 \leq \nu \leq n-1, \\ &= (1/n)(1 - b_{n,n}) + 1 && \text{for } \nu = n. \end{aligned}$$

Then

$$(3.11) \quad \psi_\nu = \sum_{n=\nu}^{\infty} \left| \frac{1}{n} (1 - b_{n,\nu}) + 1 \right|.$$

We note that, for  $0 \leq \nu \leq n-1$ ,  $b_{n,\nu+1}/b_{n,\nu} = h_{n,\nu}/g_{n,\nu}$  where

$$h_{n,\nu} = (n-\nu)[n-\nu-1+(\nu+2)k], \quad g_{n,\nu} = (n-\nu-1+k)[n-\nu+(\nu+1)k].$$

It is easily verified that  $h_{n,\nu} - g_{n,\nu} = k(1-k)(\nu+1)$ . Thus, for fixed  $n$ ,  $b_{n,\nu}$  is an increasing function of  $\nu$  if  $k < 1$  and decreasing if  $k > 1$ . But

$$(3.12) \quad b_{n,0} = 1.$$

Then, if  $k \geq 1$ ,  $b_{n,\nu} \leq 1$ . Also, if  $0 < k < 1$ ,  $b_{n,\nu} > 1$ .

(i)  $k \geq 1$ . Since  $b_{n,\nu} \leq 1$ , we can omit the modulus sign in (3.11). We thus get

$$(3.13) \quad \psi_\nu = \sum_{n=\nu}^{\infty} \frac{1}{n} (1 - b_{n,\nu}) + 1.$$

We deduce that

$$(3.14) \quad \psi_\nu = S_{\nu-1} - M_\nu + 1,$$

where

$$(3.15) \quad \begin{aligned} M_\nu &= \sum_{n=\nu}^{\infty} \nu k \binom{n-\nu+k}{n-\nu} / n \binom{n+k}{n} (n-\nu+k) \quad (0 \leq \nu \leq n) \\ &= \frac{\nu}{k+1} \sum_{n=\nu-1}^{\infty} \binom{n-\nu+k-1}{n-\nu} / \binom{n+k}{n}. \end{aligned}$$

Replacing  $n$  by  $n+1$ , we thus get

$$M_\nu = \frac{\nu}{k+1} \sum_{n=\nu-1}^{\infty} \binom{n-\nu+k}{n+1-\nu} / \binom{n+1+k}{n}.$$

Now, using Lemma 2.2, we have

$$(3.16) \quad M_\nu = 1.$$

Combining (2.15), (2.19), (3.9), (3.14) and (3.16), the result clearly follows.

(ii)  $0 < k < 1$ . Since  $b_{n,\nu} > 1$ , then

$$(3.17) \quad \alpha_{n,\nu} < 0 \quad \text{for } 1 \leq \nu < n-1.$$

But

$$(3.18) \quad \alpha_{n,n} = \frac{1}{n} \left[ 1 - (n+1) \binom{n+k}{n} \right] + 1 = \frac{(n+1)}{n} \left[ 1 - 1 / \binom{n+k}{n} \right] > 0.$$

Hence, it follows from (3.10), (3.17) and (3.18) that

$$\psi_\nu = - \sum_{n=\nu+1}^{\infty} \alpha_{n,\nu} + \alpha_{\nu,\nu} = - \sum_{n=\nu}^{\infty} \alpha_{n,\nu} + 2\alpha_{\nu,\nu}.$$

The argument given in case (i) shows that  $\sum_{n=v}^{\infty} \alpha_{n,v} = S_v$ . Thus,

$$(3.19) \quad \psi_v = -S_v + 2\alpha_{v,v}.$$

Now, using (3.18), we find that

$$(3.20) \quad \alpha_{v,v} = \frac{(v+1)}{v} \left( 1 - 1 / \binom{v+k}{v} \right).$$

But, since  $k < 1$ ,  $\binom{v+k}{v} < (v+1)$ . Hence

$$(3.21) \quad 1 - 1 / \binom{v+k}{v} < 1 - 1/(v+1).$$

It thus follows from (3.20) and (3.21) that

$$(3.22) \quad \alpha_{v,v} < 1.$$

Since,  $\alpha_{v,v} \rightarrow 1$  as  $v \rightarrow \infty$ , it follows from (3.22) that

$$(3.23) \quad \sup_v \alpha_{v,v} = 1.$$

Combining (3.9), (3.19) and (3.23), the final conclusion holds.

#### REFERENCES

1. R. P. Agnew, *Integral transformations and Tauberian constants*, Trans. Amer. Math. Soc. **72** (1952), 501–518. MR **13**, 934.
2. ———, *Tauberian relations among partial sums. Riesz transforms and Abel transforms of series*, J. Reine Angew. Math. **193** (1954), 94–118. MR **16**, 237.
3. K. Anjaneyulu, *Tauberian constants for  $F(c, \mu)$ -transforms*, Math. Z. **92** (1966), 194–200. MR **33** #1616.
4. W. N. Bailey, *Generalized hypergeometric series*, Cambridge Tracts in Math. and Math. Phys., no. 32, Stechert-Hafner, New York, 1935.
5. H. Delange, *Sur les théorèmes inverses des procédés de sommation des séries divergentes. I*, Ann. Sci. École Norm. Sup. (3) **67** (1950), 99–160. MR **12**, 253.
6. M. Fekete, *Vizsgálatok az absolut summabilis sorokrol, alkalmazással a Dirichlet—és Fourier—sorokra*, Math. és Termész. Ért. **32** (1914), 389–425.
7. ———, *On the absolute summability (A) of infinite series*, Proc. Edinburgh Math. Soc. (2) **8** (1932), 132–134.
8. H. Hadwiger, *Über ein Distanztheorem bei der A-Limitierung*, Comment. Math. Helv. **16** (1944), 209–214.
9. J. M. Hyslop, *A Tauberian theorem for absolute summability*, J. London Math. Soc. **12** (1937), 176–180.
10. A. Jakimovski, *Tauberian constants for Hausdorff transformations*, Bull. Res. Council Israel Sect. F **9F** (1961), 175–184. MR **24** #A941.
11. K. Knopp and G. G. Lorentz, *Beiträge zur absoluten Limitierung*, Arch. Math. **2** (1949), 10–16.
12. F. M. Mears, *Absolute regularity and the Nörlund mean*, Ann. of Math. (2) **38** (1937), 594–601.
13. A. Meir, *Tauberian estimates concerning the regular Hausdorff and  $[J, f(x)]$  transformations*, Canad. J. Math. **17** (1965), 288–301. MR **30** #2264.

14. C. T. Rajagopal, *A generalization of Tauber's theorem and some Tauberian constants*. III, *Comment. Math. Helv.* **30** (1956), 63–72. MR **17**, 255.
15. S. Sherif, *Tauberian constants for the Riesz transforms of different orders*, *Math. Z.* **82** (1963), 283–298. MR **28** #2377.
16. ———, *Tauberian constants for general triangular matrices and certain special types of Hausdorff means*, *Math. Z.* **89** (1965), 312–323. MR **31** #5013.
17. E. T. Whittaker and G. N. Watson, *A course of modern analysis*, Cambridge Univ. Press, New York, 1920.

DEPARTMENT OF MATHEMATICS, UNIVERSITY COLLEGE FOR GIRLS, AIN SHAMS UNIVERSITY,  
CAIRO, UNITED ARAB REPUBLIC

*Current address:* Department of Mathematics, Education College for Women, Riyadh,  
Saudi Arabia